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INSTRUCTIONS (T

(Please read carefully and eomply)' Y

Kindly read the complete set of instructions carefully and .hg see thl'
mstructions on the back side of the OMR Answer Sheet and fill the mh m
the OMR Answer Sheet and Question Booklet.
One paragraph each in Hindi and English is given in pa

ge 1. Copyin: of W
paragraph in the space provided in the OMR Answer Sheet (in the lanm
as filled in the application form either in Hindi or Enghah) in your runmnt
hand is compulsory, DO NOT USE BLOCK LETTERS

(a) Question Booklet Serial No. must clearly be written and marked in the
bubbles in the space provided in the OMR Answer Shest. :

() (B)::f_[im No. should be written in the space provided in the Q‘Bﬂiﬂl :
After being instructed to open the Booklet, the candidates will open the
Gmwm!tu%mhw‘mu.nml to w
that the booklet contains 150 questions and start the paper f; : Bﬁmu. o
mmanmlummdehm
'um ﬁf Mlh M Ul‘ﬁl, W W _w.;: Ilﬂli

mmmmm‘ﬁlhm"
For every wrong answer, 1/3 m will h
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- His gain percent 19 - : ; A
A) 10% : B) 15% el
ol b ®) 25% .

R G A BC _ e
¥ 'H A:B.C=2:3.4, then -iz;-j-n? : | : |
W 836 : ®) 8:9 12
() 8:9:24 -
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8
then its area 1s -
(A) 160 m?

(€ 200 m®
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18 Find the missing term in the following series ©
8 18 ). .48, 66,01 &
A 28 SR e 92
© 27 : \9) 28

19 Find the missing term in the following series :

l) 9- 25' 49, ...I_ . 121 : b X
(A) 64 , @) 81
© 91 oy 1 5

20 Find the missing term mﬁwm ing series '.‘: ;,
4, 712 19, 28, 1 .,
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i u If the word EARTH is written as QPMZSiﬁmM form,
(A) SQPZM s (B) SQMPZ R

S Rraa i OKE e
25 Find the missing character ; e

@ 10 ® 15
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-(B) -.ltemnhng current with Iov&aqumcyu naed
(C) direct current is used o
(D) Any one of these

30 In shielded arc welding - T
(A) large electrode is used

®B) weldmgndmudmﬁdnghw
(%) wel&n:mdeoutedﬁmtf
D) None of the above '
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u ch of the following does not use heating effect dmm

(A} Electric Furnace o B) Geyser el AN
C) Electric Iron (D) Vacuum Cle-ner &

36 Filament lamp makes use of - S
(A) chientical effect (B) heating effect b
(C) magnetic effect (D) None of these oy
37 Static electricity is produced by
(A) induction : (B) fnction
(C) chemical reaction () both induction and ﬁm

38 TbehﬂmwMﬁmﬂlmh»MM

3! :A cnm 15 sad to be direct curremt vhm e
Sy mﬂemmtmm
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4! Mmamdinmhooadmmdaﬁc
‘_44) an alternating emf w(®) a directmt
(©) a pulsating smf (D) emf of random wave

43 The basic function of a transformer is to change -
(A) the level of the voltage (B) the power le‘\ml
(C) the power factor (D) the frequency
44 All electromic circuits contain five basic components -
(A) 1 active and 4 passive components |
B) 2 active and 3 passive eommunh
(C) 3 active and 2 passive components
(D) 4 active and 1 passive components

http://ajourneywithtime.weebly.com/



http://ajourneywithtime.weebly.com/ | 2015

TSD004214

: - M‘l the M m-tenabb nct a nnﬂm &
€} Selenium (D) Gallium Arsemide

50 The most frequently used semiconductors in electronics and transistor
manufacture are - &
(A) silicon and grey tin (B) selenium and tellunium
(C) germanium and selenium (D) silicon and germanium

L

51 In N-type semiconductor there are -
(A) immobile positive jons S
(C) no majority carriers
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L ot o ety o veutabel e S v
o " W
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The dd‘nrmauon per unit length is called -
tensile stress (B) cumpﬁuin:m
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slogan Jm Hind’
F. mmmm ®) J. L. Nehru |
s &z D B. G Tilak
© S.C
Consi 1 alists -
: ider the following nation ‘ L
% ;:; Gn:gtdhtr Tilak (i) Gopal Knshna Gokh e
(i?" Bipin Chndra Pal (iv) Lala Lajpat Rm 2
:'i/.: among these were referred to as malitant nationalists of the
o
Indian Freedom Movement 7 ML
(B) an
), () and ()
i | @) (), (), (i) and (iv)

© @ () and (V)

ﬁulnhntdthnevd:uflaﬁ?at-
(B} Meerut

63 Mangal Pandey fired the
{A) Barrackpore
(C) Kanpur

(Y] 'nneAq-SnmmMW :
; (A)WWM ms-mvmm-nd
@mwk mmmw

65 In India, th Fni-n M mﬁﬁm ﬂa wmu h m tho-
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&7 m%Prﬁd-ntiathou«omcioChﬁmn.eIM-
(A} Rajya Sabha (B) Lok Sabha
(C) Planning Comnussion (D) National Development M

68 The Green Revolution in India was the outcome of efforts of who
amongst the following ? g
(A) M. S. Swaminathan s (B) C. Rangrajan e
() K. V. Kamath (D) Rakesh Mohan e

69 Which one of the following pairs is not properly matched ?

Industry Industrialist
(A) Rehance - Mukesh Ambani
(B) Wipro - R. Erishnamurthy

{D) Nane Car - Ratan Tata

70 Dr V. Kurien has distinguished himself in which of the following areas?
(C) Dairy Devel ¢ (D Atomic Energy
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“ With which of the following fields is M. F. Hussain associsted |
{A) Painting (B) Music
(C) Literature (D) Social Services
75

Who is known as the ‘Grand Old Man of India’ ?

(A) Dadabhai Naoroji B) A O Hume
(C) Bal Gangadhar Tilak (D) Surendranath Banerjee

76 EVM siands for -
(A) Electnc Vendmg Machine (B) Electronic Vending Machine
(C) Electromic Voting Machine (D) Electric Volt Meter
77

Who wrote the book “Ram Charit Manas™ ?
{A) Tuls Das

{B‘JM

) Valmiki

78 'Rahmdunnh Tnmmnuﬂﬁabﬂ?mnhhhhﬂmmkmd
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81 Sachin Tendulkar scored his 100'* International Crcket Century ﬁ
Ome Day Match against which team ?

(A) Pakistan (B) England
{C) Zimbabwe (D) Bangladesh

82 Qut India Movement was launched in response to
(A) Cabinet Mission Plan (B) Cripps Proposals
(C) Simon Commission Report ) Wavell Plan

83 The Secretariat Building of which state is known as Writers Building ?
(A) Assam (B) West Bengal o
(C) Maharashtra ‘ (D) Kamataks galir

84 Which Saint propounded ‘Advatvad _
(A) Shankaracharya {(B) Ramanand -
(C) Kabir () Chutanya
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i, 1992 104
& T
T B) 64
- o 8
(C) 16

Ciz&bkg.lft.benvermmmuf.&mﬂ

| » then th wd.gh-t.ofBia-
Bis 40 k mdt.hitomedCisﬁkm en the
1 E

B) 20 kg
- oy e
‘the number
90 The sum of one-half, one-third and one-fourth of a number exceeds
by 12. The pumber 1s -
(A) 144 B 154
) 174
(© 90
1
91 (36);-?
@ 1 | 6
© & s '0
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84 Excess of alumina in the clay -
(A) makes the brick brittle and weak
{B) makes the brick crack and warp on drying
(C) changes colour of the brick from red to yellow
(D) improves mmpermeability of the brick

95 Soils are denved from -
(A) igneous rocks (B) sedimentary rocks
(C) metamorphic rocks (D) Any one of these

96 The soil transported by running water is called -
(A) Aechian soil (B) Marine soil
{©) Alluvial sml (D) Lacustrine soil

97 hmmammmmadmmmd-
(A) deformed bars '
(B) cold twisted bars
©) ﬂ@mdﬁmmﬂlwm
-(D) All of these
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I 190 Bar chart is suitable for -
(A) large project
(C) minor work

(B) major work
(D) All of these

ressed in terms of its -
(B) power dissipation
@) None of these

101 The quality of a capacitor can be exp
(A) size
(C) capacitance value

102 Smdﬁﬁtyolmelectﬁulinatﬂﬂ@tiamdependzntof-
(A) amphtude distortion (B) frequency response
(C) hysteresis (D) all of the above

103 The type of instrament to be used for measuring DC Voltage 1s -
(A) mowving coill meter (B) dynamemeter type meter
(C) nductive type mpter (D) rectifier type meter

104 Bolometer is used for measuring - i
(A) electrical signals (B) optical inputs
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106 Detection. measurement and monitoring of chemicals in the envirenment |

done through -
(A) Analytical chemistry (B) Medicinal chemistry
(C) Combinatorial chemistry (D) Prebiotic chemstry

107 Which of the following are corrosive poisons ?

(i) Sulphuric aad (1) Phosgene

(1) Sodium hydroxide (iv) Ozone

Choose the correct option from the following :

(A) (O and () B) (u) and (v)

(©) Onmly ) (D) All of the above

I“Bmil;oicodtduashrnmwnud-

@ Methane () MNitrogen oxides
(i) Sulphur dioxide (iv) Carbon dioxide
Sehcttheemnctmﬁmthm

(A) Gi) and (u) ®) G, (i) and GV)
(© G and GV (D) @, @D and Qv)

109 mmmi-mmdmiim life is found. Tt includes parts of-
| é) Hydsosphere @ Lithosphere
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111 The ascending order of a data hierarchy is -
{A) Bit - Bytes - Field - Record - File
(B) Bit - Bytes - Record - Field - File
(C) Bytes - Bit - Field - Record - File
(D) Bytes - Bit - Record - Field - File

112 CPU consists of -
(A) 1ioput, output and processing
(B) control unit, primary storage and secondary storage
(C) control unit, arithmetic-logic unit and primary storage

(D) None of the above

113 The binary equivalent of the Octal number 13.54 is -
(B) 11011110

(A) 10111011
(C) 1001.1110 (D) None of the above

114 Ammpm-&nmmumwhmmw
(A) Interpreter (B) Simulator
(C) Compiler : (D) Commander

115 Dmmﬁumh“hmm-
(C}Eudlndth :

mmm ammm,. lects,
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VIR The primary job of the operating system of a computer is to -
(A) command resources (B) manage resources
(C) provide utilities (D) be user friendly

119 Which of the following is not application software ?
(A) Word Processing (B) Spreadsheet

(C) UNIX (D) Desktop Publishing

~ 120 Kevbeard 1s an -
(A) Input device (B) Memory device
(©) Owutput device (D) None of the above

121 What among the following 12 not & drawing instrament ?
(A) Drawing board (B) T-Square
(C) Projector (I}} Protractor

122 If ‘o’ and ‘5" are half the length of major and minor axes of the ellipse, and
'r and 'y’ coordinates, which mathematical equation will describe an ellipse ?

Bt g o .o
(A) I ~ B) ~b—2-+;rlll
s

& e @m’«slﬁ-o

B

http://ajourneywithtime.weebly.com/



http://ajourneywithtime.weebly.com/ | 2015

TSD004214
m Seme Vitamin - deficiency disease pairs are pven below

@ Vieamin C -  Night Blindness
) Vitamin B, - Beri-Ben
i) Vitamin D -  Rickets
Gv) Vitamin A -  Scurvy
Which of the above pair/s is‘are matched correctly ?
(A) () and (iv) only (B) (i) only

(C) (1) and (i) only (M @i) and (v) only

125 Photosynthesis in green plants occurs during the day, while the respiration -
(A) Only at mght (B) Only when there is enough ATP

(C) Al the time () Only during day time

126 M&mumwblmmwweﬁnm-mmmt
pairs are given below :

G AIDS . HTLVIO HIV)

mammmm
(& ) and Gii) only
(©) @.fm)ndﬁw)nb
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128

129

Which properties of water conmbnto to the upward movement d‘"w
m a tree ? : ,

i) Evaporation from leaves pulls water upward.

() Cohesion due to hydrogen bonding helps to hold together the qdm
of water within the cells. ;

(ii)) Adhesion of the water to cell walls helpa resist the downward pnn
of gravity.

(iv) The high surface tension of water makes to stretch or break the mrfm
of the hquid.

Which of the above given statements are correct ?
(A) Ci)_. (1) and Gv) M) (i) and Gv)
(C) None of the above M) (@), (1) and Gu)

When a ship enters a sea from a river
(A) it nses a httle. : i
(B) it sinks a hLitle.

(C) it remmns at the same level
Dy ﬁmwﬁbhmﬂthmﬁaﬂdkumadnd

memhmm:- o
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-J':Eﬁﬁ,-ﬂirmmwhen- _
(e thtmmmubetweenthemnandthounh.
(B) the earth comes between the sun and the moon.

(C) the sun comes between the earth and the moon.
not in the same line.

(D) the sun, the moon and the earth are

134 The minimum length of a plane mirror in which a person canAsee himself
full length should be -
(B) slightly more than his height

(A) egual to person's height
(C) nearly half his height (D) nearly one-fourth hi.u height

135 An example of a chemical change is -
(A) wool being knitted inte a sweater

m“‘“‘ﬂm%pmhwu—dg‘
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139 The metal which can be extracted from the bauxite ore is -
(A Iron (B) Copper
(Cy Aluminium (D) Lead

140 Stainless Steel contains iron metal mixed with -
(B) Zinc and Nickel

(D) Copper and Nickel

(A) Chromium and Nickel
(C) Chromium and Zinc

141 When a gas 18 heated at constant volume -
(A) its temperature will increase :
(B) its pressure will increase
(C) both temperature and pressure will increase :
(D) neither temperature nor pressare will increase

ldi‘hemtofhazmﬁ:duniﬂmwwthemrmd
pvw‘mmumm.uam-
(A) Specific heat at constant volume |
(B) Specific beat at comstant pressure ,
(C) Kilo Joule
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' o o )
. jc process takes place |
148 A definite area or a |

= known as - |
(A) Thermodynamic system (B) 'l'hermodynmnc cydol
{C) Thermodynamic process (D) Thermodynamic law

146 The absolute zero temperature is taken as -

(A -273°C ®) 273°C
(C) 237°C D) -237°C

147 Conduction 1s a process of heat transfer -

A) ﬁmonepuﬁcleofthebodytonnothe

the particles -
ﬁmmeparﬁdedthebodyhmtherbythamdmmo{the

heated particles
ﬁm.hmbodyunmuw.huudgmum.withontdemnxtha

mtervening medium
(D) None of the above

r without actual motion of

B)

(C)

148 The transfer of heat by melecular collision is smallest in -

(C) gases (1) None of these
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